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B. Com. (Hons.) 3rd Semester w. e. f.
Academic Session 2015-16 Onwords
(Current Scheme)

L 4 Examination — December, 2022
PRINCIPLES OF MARKETING
Paper : BCH-3.05

Time : Three Hours ] [ Maximum Marks : 80
Before answering the questions, candidates should ensure that they have

been supplied the correct and complete question paper. No complaint in
this regard, will be entertained after examination.
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Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.
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2x8=16

1. Explain the following :

SyefiRae @ e e
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(b)

(d)

(e)

(f)

(8)

(h)

92535~

Two major difference between Marketing

philosophy and Marketing concept.

Rrqor el SN RO TaERen & i & EE S
Sociological determinant of Consumer behaviour.
Sy R & geeErE e

State the difference between Brand and 9

Trademark. . :

aie SR FewrE & dra Si T

Define Product planning & Development.
IIE A AR forer @ aRed Bl

Role of Pricing in Marketing Strategy.
oo oIy 7 e FiRer s i
Conventional Distribution Channels.
qRURE T el

Promotion Mix.

TS e

Promotional Advertising,.
WA fermTa
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2. Explain if there is any distinction between
marketing & selling, Discuss the modern concept of

marketing. 16
A fooe R fER § HiE ofew ¥ A we A fooE
Pl SMYFH FTIRIT W ==t Y

3. What is Consumer Behaviour ? Explain various
economic determinants which influence the consumer

behaviour ? | , 16
SYAH TR F1 & 7 IUARH e B T B dred
= onfitfer frrafel & amem Fifw

UNIT = II

Zls — I

4. Explain the rationale and bases of market

segmentation ? 16
Wﬁﬂm%aﬁﬁmeﬂwﬂmﬁaﬁwﬁﬁm

5. What are the gradual stages in the lifecycle of a
product ? Discuss the utility of product life cycle to a

marketing manager ? 16
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6. "The success or failure of a business depends upon the
product price policy". Explain this statement and state
the factors to be considered while formulating the
product price policy ? 16

"HEAY P qE AT STEEN IR e A 9 Y
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7. Explain various types of channels of Distribuﬁon.y.
Discuss the role and importance of Distribution™
Channel. 16

RRer & AR TR & et B e v e
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UNIT = IV
g -1V

8. What is Sales Promotion ? What are the different
methods used by a manufacturer to motivate the

consumers ? : 16
WWW%?wmmwﬁﬁeﬁﬁﬁﬁam
3 T ST o A R fafter @ E 7 9

9. Define Advertising media. Describe some important
advertising media and examine their respective merits
and demerits ? 16
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B. Com. (Hons.) 3rd Semester
w.e.f. Academic Session 2015-16
Onwards (Current Scheme)

) Examination — December, 2022
‘ BASICS OF INFORMATION TECHNOLOGY

Paper : BCH-3.06
Time : Three hours ] [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they
have been supplied the correct and complete question paper. No
complaint in this regard, will be entertained after examination.
H@##Wﬁ#%@qﬁwﬁ%yﬁfﬂﬂw#@wﬁgpf
T @& FoT-9H e 8l q??ﬁr%avwswwsrﬁaﬁs‘
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Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.
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1. Explain the following in brief:
fereticifiae b @80 o |memsy
(a) Electronics data interchange
ENEHIREEICTIE GG

92536- /¢ /-(P-4)(Q-9)(22) | P.T.O.




(b) ISP.

SIS
(c) Impact of IT on Business Environment
S e RS A
(d) System Languages |
Ryeed
(e) E-Commerce
-3 | Q
(f) Multimedia
GRILIER
(g) Infrared Commu'nicatio.ni
TR HAR
(h) Network tdpology
edd st
- UNIT -1
3 — |

2. Explain concept of software and its types.

difeaay i STy Y 56 THR B ST B

3. What is electronic processing data and 1f
applications ?

s SARMT 27 oA Tud oRpRE ¥ 7
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4. Explain data communications and basic elements of a

communication system.
2T TOR &R GuR ol B g a6 e ]l

5. Describe types and application of E-commerce.

$-HE B T AR ST F O B

UNIT -l
@ — |l
6. What do you mean by Computer Network and its

types ? .
FEX FeaH AR IS TBR § AT T TN & 7

7. Write short note on
Hiera fewelt R
(a) Internet Accounts
gexe @
(b) Application of IT
IS T ST
() Impact of IT on Business environment

GO graE}eT I SRS H T

92536-  -(P-4)(Q-9)(22) (3) P.T.O.



UNIT — IV

geplg — IV

8. Write short note on
it fewelt fafeg :
(a) Working with graphics in power- point
qER-ige § Db & T HH BT
(b) Printing in Power- point
qreR-dge | e
9. Write short note on :
giera fewef faRaa -
(a) Preparation of voucher using tally.
<l H IR B qeER JAR B

(b) Maintaining of Inventory records.
T R 1 e

92536-  -(P-4)(Q-9)(22) (4)
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B. Com. (Hons.) 3rd Semester w.e.f.
Academic Session 2015-16 onwards
\ (Current Scheme)
Examination — December, 2022

BUSINESS MATHEMATICS

Paper : BCHN-3.01

Time ;: Three Hours ] : [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they

have been supplied the correct and complete question paper. No

complaint in this regard, will be entertained after examination.
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Note: Attempt five questions in all, selecting one question
from each Section. Question No. 1 is compulsory.
All questions carry equal marks.
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1. (a) Define singleton set
Riaed e @1 aRm B
(b) Write a short note on infeasible solution in LPP,

ol & eroEEd AN O O Hieww He f)

2
(c) Evaluafce I(«/ng—\—/—l;—j dx . O

\2
' 1
TR B J.(\/; +———j dx |
Jx
(d) Differentiate (29&5)3 w.r.t.'x".

x & AU (2x+5)° F STEHAT Bl

(e) Define Deferred Annuity.
ARY anfen! & IR i

(f) Find the compound interest on ¥ 8,000 for 4 yeas

at 10% per annum, ;

28,000 T 4 a8 % Ryw 10% e & § g o
S Shiforg) ’

02537-  -(P-7)(Q-9)(22) (2)




(g)

(h)

2. (a)

(b)

92537-

A 2x 4
If e [ . find the value of x.
5 1 X
2 4 2x 4
I = . x T A ST B
5 1 6 x

Define transpose of a matrix.

up A & TFiaRer @ e H
SECTION — |
gug — |
2 0
Let f(x)=x%—5x+6. Find flA)if A2 1 3.
| S

A f(x)=x% -5x+6, f(A) T HOE, AR

2o o IS
A2 1 31
1 -1-0

Find the value(s) of A and p for which the system
of equations :

X+Yy+2z=06

x + 2y +3z=10

X+2+Az=H

have unique solution.

-(P-7)(Q-9)(22) (3) < | P.T.O.



3. (a)

(b)

92537-

) ol p A e (9l @ e wt, G S g
BUIR)
x+y+z=0

v 4 2‘1/ 4.3z = 1()

x4 2y 4+ Az = |
i afady & B
2 =1 4
Find inverseof A, A={-3 0 1]. 5]
-1 1 2
2 -1 4]
A=|-3 0 1|, A % R 5 Bl
-1 1 2]
Solve :

2x+8Yy+52=5,x+y+2=-2, x+2y~z=2
ESECTER

2x+8Y+52=5,x+y+z=-2, x+2y—-2=2 )

SECTION ~ i
qug — ||

Find the difference between compound interests

on ¥ 8,000 for 1%— years at 10% p.a. when

compounded annually and semi-annually.

-(P-7)(Q-8)(22) (4)



(b)

5. (a)

(b)

02637-

T 8,000 YT 1421- af & R 10% aff® @ & & =whha

ST SR § e, o/ aiffs oy rd-anfis =9
q daf B s R

The population of a Town was 15, 96, 493 in 2000.
It increased to 20,44,832 in 2010. Find the rate of
increase in population.

g8 2000 ¥ UH FHE @ SHEE 15, 96, 493 €l T8
2010 ¥ SeHT 20,44,832 & SR ¥ WS H &
Y S i

Calculate the present value and the amount of an

annmty immediate of ¥ 2,000 for 10 years.
3 Lo, p-a.

qHE g oY 10 av & fw T 2,000 #Feeewy
i = IRT A T H r=32% pa.

A firm anticipates a capital expenditure of
¥ 50,000/- for new equipments in 5 years. How
much should be deposited quarterly in a sinking
fund carrying 12% p.a. compounded quarterly to
provide for the purchase.

s B4 5 quf # AC I & M T 50,000/- F
YolTer o @l ST Hl ¥ % R AW & R
RifkT me & I 9 | BRaer s e S e,
12% p.a. ST G &er & ?

-(P-7)(Q-9)(22) (5) : P.T.O.



SECTION —1lI

gvg - |l

. 1-x

6. (a) Differentiate: y=. vk
. 1-x

SECAEICAN 3/~-J.Hx.

. d
(b) 1f y=(x? +1)2y22 =5, find —dl;-

TRy =(x2 +1)° 2x-—5,% STl SIS

2
7. (a) .Evaluate: jx3ax dx .

: | 2
TR Y jxgax dx .

(b) Evaluate: j 22x+3 dx .
X“+7x+10

Wﬁ I 2x+3 d .

% +7x+10

92537-  -(P-7)(Q-9)(22) (6)



SECTION - |V
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8. Two tailors, A and B, earn ¥ 150 and ¥ 200 per day,
respectively. A can stitch 6 shirts and 4 pants, while B
can stitch 10 shirts and 4 pants per day. Form a linear
programming problem to minimize the labour cost to
produce at least 60 shirts and 32 pants. Also find

minimum labour cost.

3 goil, A 9% B, @S T 150 X T 200 ¥ o A
A 6 92 9lX 4 Yo faE &Y g%ar &, safe B g 10
¢ A 4 Yo s &Y THhaT &1 B F FA 60 9T AR 32
Yo gM & [T o9 aF & Ao F & T T S

QTR TR QAR HY A FH AR A S I

9. (a) Maximize Z = 4x + 5y subject to constraints :

2x +3y<12,2x+y<8,x,y20.
APt #% : Z = 4x + 5y, el & A
2x +3y<12,2x +y<8,x,y>0.

(b) If a finite set A has n elements, then power set of A
has 2" elements.
% oF Gt d¢ A o0 T 8, WA B TR qe § 27
gl |

92537 -(P-7)(Q-9)(22) (7)
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B. Com. (Hons.) 3rd Semester w.e.f.
Academic Session 2015-16 on words
(Current Scheme)

S Examination — December, 2022
CORPORATE ACCOUNTING - |
Paper : BCHN-3.02

Time : Three Hours | [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in
this regard, will be entertained after examination.
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’ Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All

questions carry equal marks.

TOF FHE W 0F N N0 §Y, R W Ul &
X AT w9 w1 ofRg B ol ust & ol
A B

92538- | po -(P-8)(Q-9)(22) P.T.O.




1. Bxplain the following in brief: 8x2=16
PR o) diva s Hivig
(@) Difference between right shares & bonus shares.
G QR ofer r ST afer A AT
(L) Oversubscription,
SHRECHRMEY
(¢) Need for valuation of Goodwill,
TR & e W TRl
(d) Convertible Debentures. Q
SR ECRERINIENLE]
(e) Surplus Account.
SHIRCRRCIN
(f) Time Ratio.
T STl

(g) Consolidated Financial Statement.

Tehidhal feri feerom)
(h) Capital Redemption Reserve A/c.

ol site e @
UNIT — |

g — |

2. Under what circumstances can a company forfeit its
shares ? Can forfeited shares be re-issued at a discount ?
If so, to what extent ? What entries are passed before
and after the re-issue of forfeited shares ? 16

92538- -(P-8)(Q-9)(22) (2)
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3. Following is the Balance Sheet of Chandani Textiles
Ltd. as at 31st March, 2018 : 16

31 #E, 2018 @ TEM! <HUeET fMo # FM-kifaa Rk
fereor ®

Particulars Note No. | ¥ 3

I. EQUITY & LIABILITIES :
Shareholder's Funds :
40,000 10% Redeemable Preference
Shares of ¥ 10 each _ 4,00,000
1,00,000 Equity Shares of ¥ 10 each 10,00,000

__ 14,00,000
Paid up‘Capit'aI :
30,000 10% Redeemable Preference
Shares of ¥ 10 each : 3,00,000
50,000 Equity Shares ¥ 10 each : 5,00,000
Surplus | 4,50,000
Current Liabilities :
Trade Payables 2,50,000
II. ASSETS: . 15,00,000
Non-current assets :
Fixed Assets i 10,80,000
CURRENT ASSETS
Current Assets 4,20,000

15,00,000

92538- -(P-8)(Q-9)(22) (3) P.T.O.



On 25th April, 2018 the preference shares were
edeemed at a premium of % 2 per share. The company
could not yet trace the holders of 2,000 preference

shares. On 1st May, 2018 a bonus issue of two fully
paid shares for five equity shares was made. Show the
Journal Entries and the Revised Balance Sheet. 16

25&%,2018@2?%@19TWW@6!®W@@2H

sﬁmaﬂﬁmweﬁﬁrz,oooqa?wmﬁ%ww
enﬁazsqara‘eﬁmaﬂo°n1qé,2018a?rsmeﬁﬁ%
aa%ra"rgviﬁeméﬂw%wﬁﬁfﬁwﬁmﬁww

SRt qor s ferger ST AUy ®
UNIT - II
zR - Il

4. A company issued 5,000, 9% debentures of ¥ 100 each
in 2001, interest is payable on 30th June, and 31st
December each year. On 31st April, 2012 the company
purchased ¥ 10,000 of its own debentures at 95% and
cancelled them after 4 months. Give Journal Entries if
the purchase price is (a) cum-interest and (b) ex-
interest. Ignore creation of debenture redemption

reserve. | 16
)

T P A 5,000, 9% FOGH 100 T awy 2001 § fEiA
fpw) =T Ofted 30 S 7 31 REwx @ Rer swar 21 30
3B, 2012 & FHI 7 10,000 T TR H O[O RO 95%
o #A FR R SR AR A Aw o g AR Ren S
yfeftear 4T, afs w1 T (a) =9 Wl ¥ ok (b) =
WA & RO AT B i 8 gRifed 3™ @
AGLIHA TE Bl

02508-  -(P-8)Q-9)22)  (4)




5. Write short notes on the following : 4x4=16
Pl g e feufnr fifgo
(a) Issue of Debentures as Collateral Security
e Ui & w0 o sl g et

(b) Sources of Tinance for the Redemption of
Debentures

T & M & fow fxi dres
(c) Sinking Fund
i woe

(d) Purchase of own Debentures

3T & RO B BT

UNIT —1II

gers — I

6. Write short notes on the following : 4%x4=16
Fretfeea o gt fewforr R
(a) Corporate Social Responsibility
FURE ARG STREa
(b) Deferred Tax Liability
W T A
(c) Corporate Dividend Tax
FIAE FAT HY
(d) Divisible Profits
feremo Ay @

92538- -(P-8)(Q-9)(22) (5) P.T.O.



orporated_ on 1st July, 2011,
business of M/S Phagwati Paints as
from 1st April, 2011 The accounts of the l\c/;)mcigm%, B
the period of 12 months ended 31st March, 2012,

disclosed the following informations::

e Yred RRRE H WA R
a?rlaaﬁffr,zon%mzm%m

, aﬁrw‘aaﬁaﬁﬁumq&f
mﬁ%mm%@ﬁfﬁﬁﬂwﬁmg:
es) during the period i.e., from 1st ®

31st March, 2012 were % 8,20,000. It
that average monthly sales of the

7. Radhika Paints Ltd. was inc

to take over the

- (a) Turnover (Sal
April, 2011 to

is ascertained
later eight months. :

1 e, 2011 @ 31 W, 2012 F 3 onga (feshh),
8,20,000 # &I = Pied ¥ 9O O AR &
S s e 9 & 8 e ) IfEd i fawmt

ger & A B

(b) Purchases ¥ 3,70,000 ; Manufacturing Expenses
% 2,10,000 ; Opening Stock X 36,000 ; Closing Stock

< 60,000.

59 3,70,000 T; Faflt &g 2,10,000 T; TP @i
36,000 %; @ifeA TEfadr 6,000 2| ¢

(c) Expenses debited to Profit & Loss Account were :
Rent, Rates & Taxes ¥ 16,000; Insurance I 6,000;
Salaries ¥ 20,000; Carriage Outwards ¥ 4,800;
Commission ¥ 8,400; Packing Charges ¥ 3,000; Bad
Debts (out of which ¥ 2,400 were written off prior
to 1s:t J}J»ly/ 2011) ¥ 8,000; General Charges ¥ 12,400;
Preliminary Expenses written off ¥ 3,800. It was

92538-  -(P-8)(Q-9)(22)  (6)



¢

agreed that the vendors would get 80% of the
profits earned prior to 1Ist July, 2011 as
compensation.

Calculate the profits prior to incorporation and
after incorporation. State also the amount of

profits prior to incorporation. Payable to the

vendors. 16

el Ty ¥ =@ e B o fewn g 9o
16,000 Z; ST 6,000 ; AT 20,000 3; TG Tl L
4800 T; FNIT 8,400 T; URHT =7 3,000 I; T T

8,000 T (P ¥ 1 s, 2011 & T 2,400 T
siEg R T ) g = 12,400 T; IS &9
s few 3,800 3 ¥ MREW gen fb famdr 1
@ﬁﬁ,zon@rngeqﬁ%aaﬁmm%mgﬁ%wﬁ
I B |

TR 4 O T 9IS W T o
F @ S A F R B g R S

UNIT -1V

HE - IV

8. What is Holding Company ? Explain the following in

case of a holding company :

4x4=16

Rt e Y e & 7 e B @ s A Reiered
Sl G99y ¢
(a) Cost of Control

92538-

feyd=ror @l AT

-(P-8)(Q-9)(22) (7) P.T.O.



(b) Minority Interest
ORERET]
(c) Consolidated Balance Sheet

g Refdl e
(d) Pre-acquisition Profit

ERIC N CECC K]

9. What is a Holding Company ? How does a holding
company come into existence ? Explain the advantages &)
and disadvantages of holding companies. 16
S Rl g 7 g Ut & @Sl qur AW H e
T = B

92538-  -(P-8)(Q-9)(22)  (8)
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B. Com (Hons.) 3rd Semester w.e.f.
Academic Session 2015-16 Onwards
(Current Scheme)
Examination — December, 2022

COST ACCOUNTING
Paper : BCHN-3.03

Time : Three Hours ] - [Maximum Marks : 80

Before answering the questions, candidates should ensure that they
have been supplied the correct and complete question paper. No
complaint in this regard, will be entertained after examination.

Fel % GY &7 @ Yo7 qhar 9 ghkaT &Y d 5 g oo
Uq el FeT-T e & e % ew 59 g9y 7w of
Rrerga 78 g7 s

Note: Attempt five questions in all, selecting one
question from each Unit. Question No. 1 1S

compulsory. All questions carry equal marks.

TF TS W OF 9 WO B g, T 97 a
% I AR TS w1 Rt Bl a5
3% 9 Bl

92539- [ b (D-(P-7)(Q-9)(22) P.T.O.




1. Yixplain the following : 8%2=16

Ry o) e B

(a) Cost Cenlre Vs Cosl Unil,
QT AR A A R

(b) Whalis Economic Order Quantity ?
Rrqer oy e 0 7

(c) Causes of labour turnover.
sy feRrll & T

(d) Apportionment of Overheads.
SqRerat @ ATTAST|

(e) Cost Sheet.

SINSESE]

(f) Need of Reconciliation of Cost A/c with financial @
Alc. |

AT A o Rl i & e bl SRl
() Abnormal Loss

UM &9
(h) Retention Money

ST T

92539- (P-7)(Q-9)(22)  (2)



UNIT ~ |

gl — |
2. Define Cost Accounting. Discuss the objectives and
different methods of Cost Accounting,. 27037

ST i B qRenfe Hif aE i B Segd @
o fafet @t ==l i)

3. What do you understand by ABC analysis ? What are
its advantages ? 4,12
3T To o Ho RAWYT T F1 GUET § 7 WF. TN AT
g7

UNIT -1

= — |l

4. What earnings will a workman receive under Halsey
Scheme and Rowan Scheme if he executes a piece of
work in 60 Hours as against 75 Hours allowed. His
hourly rate is ¥ 2 and he is paid 50% of the time saved
under Halsey plan.

He gets a dearness allowance of ¥ 8 per.day of 8 hours
worked in addition to his wages. 16

B0 Al A Ve Ao b SRR T S B SUeH
w1 2 e g8 i 75 gvel @ oWem 60 guel H faeh
HA B G BT AA & 7 I GO I 2 ¥ T T S B
Ao H TR TE # 50% FTEW B osmar ¥ S
aRafm & afifeT FEdm 8 598 F uRRA 8 T weme
sar off foerr B

92530- -(P-7)(Q-9)(22) (3) - P.T.O.




5.  What is absorption of overheads ? Discuss the various

methods of absorption of Factory Overheads. 4,12

ewﬁa@fﬂﬂemﬁww%?wmmm%maﬂw
N Rt R SO

UNIT -l

s — I

6. In a factory overheads are.absorbed @ 60% of labour

and office expenses @ 20% of works cost. 16

The total expenditure is as follows :

3
Material . 2,00,000
Labour 1,50,000
Factory expenses 98,000
Office expenses 85,000

10% of the output is in the stock and sales total up to
Z 5,10,000. In financial books, closing stock is valued at
Works Cost. Prepare Statement of Cost, Profit & Loss

A/c and Reconciliation Statement.

92539- -(P-7)(Q-9)(22)  (4)

@



w Bl N praEn uRern S @ 60% Ot
P ol S
U BTG WHI @l 200 @ B0 S el

R T P qHIX Ga

3
I 2,00,000
9 1,50,000
HRET Y 98,000
o e 85,000

SR W O10% WiE s vl o) fER 5,10,000 X &
i st & ofw el & e R @ T
REar ST 21 @I [T, SW-giy ST aul SHEE e
R

7. What is Operating Cost ? What are its objectives ? In
which industries is it used ? _ 2,7,7

qREes dFd [ Fed & 7 393 R Sesg & ¢ U
Rr-foeT Qe & o7ues SRR § 7

UNIT - IV

g8 — IV

8. A product passes through three processes A, B and C.

The normal wastage of each process is as follows :

92539- -(P-7)(Q-9)(22) (5) P. T.O.



Process A-3%, Process B-5%, Process C-8% Wastage
of Process A was sold at ¥ 25 per 100 units, of process
B at ¥ 50 per 100 units and of process C at % 100 per 100

units. 10,000 units were issued to Process A at a cost of

X 10,000.

The other expenses were given ahead : 16
Particulars Process A | Process B | Process C
®) ®) - %)
Material 1,000 1,500 500
Labour 5,000 8,000 6,500
Direct Expenses | 1,050 1,188 2,000 e
Actual Output was : |
Process A - 9500 units
Process B-9100 units
Process C - 8100 units | | O

Prepare the Process A /.
% TG TN 9B A, B aor C T B T B
A &7 5 IR 3 '

qiRA A-3%, IRRIT B-5% o R C-8% wfwr A @
71 X 25 90 100 T, SRR B @ e 7 50 oy e
aarxrmrcwm%‘looqﬁmoomﬁﬁaarm%l

92539- -(P-7)(Q-9)(22) (6 )



ufF A T 10,000 # @rr 9¢ 10,000 A T s
Tl

3T T 59 TR Y

( ferereT | g A | uBem B | HEEA C
) ) )
\ al 1,000 1,500 500
\ 5 5,000 8,000 6,500
Eﬁqﬁ‘[ G 1,050 1,188 2,000
arediaes IaeT o ¢

RET A — 9500 AT
R B — 9100 ZhEAl
of¥ar C — 8100 HEA
ofFT @R AR T

9. What is Contract Account ? How is it prepared ? Give
a specimen of such an account using imaginary
figures. 2,7, 7
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Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in
this regard, will be entertained after examination.
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Note : Attempt five questions in all, selecting one question
L 2 from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.
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1. Write short notes oil the following, : 5 Sk
Fr=fafad W g fuefy iy
(a) Corporation
ERL|
(b) Corporate Veil
e @ 9
(c) Public Company
S
(d) Promoter
BERET
(e) Capital Clause
(f) Underwriting Agreements
ARG TR
(g) Ultra Vires Borrowing
PR & TR FOT
(h) Debenture
ENUE|
UNIT -1
g — |
2. "A company is a legal entity quite distinct from its

members." In what cases do the Courts ignore this
principle ? 16
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3. Define Private Company.  What privileges and
exemptions are enjoyed by a private company under
the Companies Act ? 16
el w1 aRwmr v wo st F oie o
ol & & - Rrdmfe qon g o € 7

UNIT —1I

TR -
4. Describe briefly the mode of forming a Public
Company limited by shares. 16

N E wWifa Ui FR & Fotor @ wsiy @ dag Ao
TIET

5. Define a 'Prospectus’. Discuss the liability of a
company for untrue statements in its prospectus. 16

yfqeRer @& afeir AR e § R T g3 wEEl &

g § el B o @ R SR
UNIT -1l
g — il |
6. "Memorandum of Association is an unalterable charter
of a Company." Discuss this statement fully. 16

“qnfE QARG HRA A T STORaG e ol 39 FEN
% ot & A HT

7. Define Articles 6f Association. Discuss its contents.
How does it differ from Memorandum of Association ?

16
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UNIT ~ 1V

i — IV

8. What is the position of a person who has lent moriey to
a company where the borrowing is wultra-vires the

company ? 16

O 3 T S T SE & e Bl W RO 89 9
SR @ o iy el © 7

9. What is Charge ? What are the different kinds of
charges ? > 16
R Py Fed ¥ 7 MR R SR % B € 7
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